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SANSKRIT
Paper 1
(therature)

Time Alloved * Three Hours M&xz’ﬁ:wn,MarkS--: 300

INSTRUCTIONS

Candidates should attempt Question:Nos. 1.and 5
which are compidsory, and any three of the
" remaining questions, selecting at least one
question from each Section.

The number of-,marks-carrftl_?d by each question
is-indicated at the-end of the question.

Question Nos: 1, 5 and 8 musr b_e answered in
Sanskrit and the remdining -questions must be
answered either in Sanskrit or in the medium of
examination specified in the Admission

' Certificate issued to you

Answers written in Sanskrit nwsr be in
Devanagari script:

(Contd.)



Section ‘A’ .

1 (@ FfRE T — ba=3
(i) ¥R IR & auf: ?
i) = afear-wm ?
(i) aT=raiEd fraar —

Y 7 g7 iy |
(b) ANfAfEET TEHT PACdEYds  TERA
Al : £ F: | 3Ix4=]12

. Feutg:, &u, Iuu, T |

(c) sERRETRY YereaueEr fsfrude-
ﬁmmmml 4x5=20
(i) gfe e |
(1) W:m:nﬁrl
(iii) ferraa: T gl |
(iv) “gater Svaafr arfife: |
(v). firedisd s srefet |

(d) garEr  fadmany;  awwee S
FEHAATETRA — 5x5=25

- () wfrwlaEa |

(i) TEE: |
Gii) W afT T &: |
(v) &fer 7 qaes |
(v) aHurEE: |
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(a) ST 6gaer A ffewam | 30

(b) Afs-ditferaderaay: Swertyanr-Faw: w1 |

30
(a) Wmﬁmmammmaﬁw
feraaT | 30

() Foifees " RamiBra P ey
WW@H@WWWI .30

. () ‘FEERRETEEERIST 7 ey — FUE-

g@ﬁaa—rﬁm[l 30
(b) ATHT THTCHE FHTeaw, — S AT | 30°

Section ‘B’

AerTeracy zerehr fervagamaeea qef Ry AR
T 175 SeauRine ferugd ficeram | —

30+30=60
Writé fwo essays in Sanskrit, in about: 175 words,
taking any.two of the topics-given below : (Write in
Devanagari script. only). _ 30+30=60
(a) o e 7 YR waterEThe: A |

(b) - FHiEraeT TREmE 7 — &l gAY |

(c) Frizam:, SeimEgle |

(d) Frammay fEar, afwames |
() TR TS ISHaR Y S

qEATRHSRHRTET ST | 30
(b) Errefﬁna -Frmds fF arirgeR adam-

e ! gy freeran | 30
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7. (a) ‘A, 7 fviihsd = o, g afRed’
— FAte e few ~mmEfagear

gferareaT | 30
(b) Ea-gIREE yEr R e ) 30

8. sufufag-ad wawmqar afar = ggaT
YIFTAT HRITR, FEha = ST | 10x6=60

Read the following passage carefully and answer
the questions that follow in Sanskrir : 1 0x6=60

gute: WiERfawes @gfiw=y | ‘T
AT AT F FAT Flafearer fger @8R | a)g
TENT ATATIHET [Fmar eanm T e e
R gafm gy | ardigesieRa oy ==
YEIATAT: | T IGF ATAFIHAT AT a2 G
qE ISt | AR =
ST ATIATE, IUANE: JEATHAT SIS
eI | HeeEEgar Bad gty s |
ARTAVAEIG  FRIGT  JAAYEIAET | 9T
AT R e RegaEaTT ae=geaeT Far
I G QI AT FEAATH ST SRrssa T
aTiehanron FFaarsy wraeds g afer | e
dfewerdurr s ie 9 e sy |
SE1GE G IGIE G RPN R IR DI I L T
AEAETET: |
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SRIELC R o) wﬁa«'ﬁwﬁqmgg&m

TR sfer Fvafty, sy g wafy, garfr s
HT At | SR wever aRaTeqTe S
SN e e
‘Fafag’ g g g wrefer 7 |

(@) FF fadfeds ey ? T ATSTRT GT 7
() I aveffera gufivan ? gufrvamet A fg 7
()" TRarasfaTed Sk qemmeT 7 F Ty ?

(d) STERETHIASERE & aftfanfer ?
(e) SfToTETT & wwarfey ?
) SR e e g ? Frfere freram 7
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